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1. Answer the following as directed: (any five) A

woTS I i) T fit ¢ (R APe)
(a) - Define utility.
ToCifsToR e |
~ (b) What is budget constraint ?-
JCEHS AL 52
(c) What is choice in econbmicfs ?
s = 2
(d) Define the law of demand. |
- pifaw TEd el |
 (e) Whatis cardinal utility 7
FHeRGT GAIO! [ 2
(f) Whatis microeconomics ?
) IS T 0T ?
Answer the following questions- (any five) 2%5=10)
woTq 2PfTEE ©ed fordl ¢ (RTte <Hivst)
(a) Mention two assumptions of cardinal utility.

FRAAGF GO T 16! B T4 |

(b) Mention two features of perfect competition market
sff AforaifeTeIETs et 1o (a2 T 31 |
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(c) Mention the different factors of production.
TeoAmg [Afos ToAmiaeTz S T4 |

(d) What is production cost ?
Teoim A JferesT < gen ¢

(e) Define the perfect competitive market.
#of efScaiiTee JTeras gt |

() Whatis variable input ?
ARSI Tomiw e

Answer any one of the following questions-
R BT 2iig Tes fo14ll 8

(a) Distinguish between short run and long run cost curve.
THPI I S TGPl U (FT ero AL 772 |

(b) Describe the technological impact on production function.
TeAM Tee YfERiS 2ol A F9 |
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